Offset Analysis

Robert Apsimon



Difference from bunch 1 f%shs

02 F

Difference from bunch 1 %% Fosition from mag current

0.8

0.4

0.2

pl=-1.911+0.01247
p1=0.004122+3 .47 3e-005
chisg/M = 7.724
rho = 1.001
REh==0.01582 “eiv's

35l

400

450 a0 il B0
Fosition fram mag current / pum

Ral

Faad



Difference from bunch 2 f Yshs

0.b

0.4

.2

Difference from bunch 2 %= FPosition from mag current

pl= -2.276+0.01535
p1=0.003966+2 667 e-005

chisg/M = 49,104
rho = 0.977

RiM==0.0491 Vsiv's

A00 450 a0 il B0
Fosition fram mag current / pum

Ral




Difference from bunch 3 f Yshs

0.5

0B

0.4

Difference from bunch 3 %% Fosition from mag current

pl=-2.01M15+0.01516
p1=0.003816+2 6597 e-005

chisg/M = 73.298
tho = [0.991 =

RiM==0.0375 Vaiv's

A00 450 a0 il B0 Sl
Fosition fram mag current / pum




Digital calibration curves
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Offset Plots
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Offsets averaged over all 3 bunches
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Offset averaged over all bunches and gains
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